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Pipe and cistern
1. A pipe Can fill a tanke in 10 hours. The other pipe

can fill a tank in 15 hours. How much time will they
take to fill that tank together.
, d i kbi  fdl h VSad dks 10 ?kaVs esa Hkj l drk gS vkSj
nwl jk VSad 15 ?kaVs esa Hkj l drk gSA rks nksuksa feydj fdrus
?kaVs esa Hkjsaxs\

2. A pipe can fill a tank in 10 hours. The other pipe can
empty a tank. Both are opened together. In how much
time will tank be filled?
, d i kbi  fdl h VSad dks 10 ?kaVs esa Hkj l drk gS vkSj
nwl jk 15 ?kaVs esa [ kkyh dj l drk gS rks VSad fdrus ?kaVs esa
Hkj t k; sxk\

3. A pipe can fill a tank in 20 min. Another pipe can
empty that tank in 25 min. If both are opened
atternatively then the tank will be filled in?
, d i kbi  fdl h VSad dks 20 min esa Hkj l drk gS vkSj
nwl jk 25 min esa [ kkyh dj l drk gS ; fn ; s alternate
pyk; s t krs gS\  rks VSad fdruh nsj esa Hkj t k; sxk\

4. A pipe can fill a tank in 30 minutes. Another pipe
can empty that tank in 40 minutes. It both are opened
alternatively. How larg will it take to fill the tank?
, d i kbi  fdl h VSad dks 30 feuV esa Hkj l drk gS rFkk
nwl jk i kbi  40 feuV esa [ kkyh djrk gS vxj budksa
alternate pyk; k t k; s rks VSad fdruh nsj esa Hkj t k; sxk\

5. A pipe can fill a tank in 12 minutes. Another pipe can
empty a tank in 20 minutes. They are opened in alter-
nate minutes, How long will it take to fill the tank?
, d i kbi  fdl h Vadh dks 12 feuV esa Hkj l drk gS vkSj
nwl jk i kbi  20 feuV esa [ kkyh dj l drk gSA ; s alternate
pyk; s t krs gSA rks VSad fdruh nsj esa Hkj t k; sxk\

6. A pipe can fill a tank in 12 minutes. Another pipe can
empty that tank in 30 minutes. If they are opened alterna-
tively. How much time will they take to fill that tanke?
, d i kbi  fdl h VSad esa 12 feuV esa Hkjrk gS rFkk nwl jk
30 feuV esa [ kkyh dj l drk gS vxj budks alternate
pyk; k t k; s rks VSad fdruh nsj esa Hkj t k; sxk\

7. Two pipes can fill a tank in 20 hours and 12 hours
respectively pipe C can empty that tank in 15 hours.
Of B is open all the time and A and C are open for one
hour each alternately. Then the tank will be full in?
, d i kbi  fdl h VSad dks 20 ?kaVs esa Hkj l drk gSA i kbi
B ml h VSad dks 12 ?kaVs esa Hkj l drk gSA i kbi  C, 15 ?kaVs
esa [ kkyh dj l drk gSA i kbi  B ges' kk Open jgrk gSA B
ds l kFk 1 ?kaVs A  rFkk fi Qj 1 ?kaVs C dke djrk gS
alterate . rks VSad fdruh nsj esa Hkj t k; sxk\

8. Two pipes can fill a tank in 
137
2

 minutes and 45

minutes respectively. Both are opened together. Af-
ter working at it together for some time B is closed
then the tank is filled in half an hour. After what time
will the pipe B have turned of.

nks i kbi  fdl h VSad dks 
137
2

 feuV vkSj 45 feuV esa

Hkjrs gSA nksuksa dks , d l kFk [ kksy fn; k t krk gS dqN feuV

ckn B dks can dj fn; k t k; s ft l l s VSad vk/ s ?kaVs esa Hkj
t k; s rks dks dqN feuV D; k gS\

9. Pipe A can fill a tank in 3 hours, pipe B can fill in 4
hours. and Pipe C can empty in 41 hour. All Three
pipes are opened in order, at 3, 4 and 5 pm respec-
tively. The tank will be emptied at?
A fdl h VSad dks 3 ?kaVs esa Hkjrk gSA B, 4 ?kaVs esa Hkjrk gSA
C, 1?kaVs esa [ kkyh djrk gSA A dks ' kke 3 ct s] B dks ' kke
4 ct s rFkk C dks ' kke 5 ct s open fd; k x; kA rks VSad
fdrus ct s [ kkyh gks t k; sxk\

10. A pipe can fill a tank in 20 min and auother pipe can
fill in 30 min. After retrning, a man noticed that The
tank did not filled due to a leakage. If he repaired
That leakage than the tank was filled in 3 minutes. In
how much time will that leakage be emptied that tank?
, d i kbi  fdl h VSad dks 20 min eas rFkk nwl jk VSad 30
min eas Hkj l drk gSA t c vkneh oki l  vk; k rks i rk pyk
fd Vadh eas Nsn gksus ds dkj.k VSad ugha Hkj i k; k vc Nsn
dks can fd; k x; k vkSj Vadh 3 min esa Hkj xbZA Nsn Vadh
dks fdrus feuV esa [ kkyh dj nsxk\

11. Two pipes A and B can fill a tank in 25 min and 45
min respectively. Pipe C can empty. The tank in 10
minutes. If pipe A and pipe B are kept open for 5
minutes in The begining and then C is also opened.
In what time will the tank be emptied?
, d i kbi  A fdl h VSad dks 25 min esa rFkk nwl jk i kbi  B, 45
min esa Hkjrk gS rFkk i kbi  C, 10 min esa [ kkyh dj nsrk gSA
i gys nksuksa i kbi ksa dks 5 min [ kksyus ds ckn i kbi  C dks Hkh
[ kksy fn; k t krk gS rks VSad fdruh nsj esa [ kkyh gks t k; sxk\

12. A pipe can fill a tank in 10 hours. An outlet pipe
drains the water at the rate of 50 l/hour. Then the
tank fills in 15 hours. Find the capcity of tank.
, d i kbi  fdl h VSad dks 10 ?kaVs esa Hkj l drk gSA , d
[ kkyh djus okyk i kbi  yxk t ks 50 yhVj i kuh @?kaVk ckgj
djrk gSA rks vc VSad dks Hkjus esa 15 ?kaVs yxrs gSA rks VSad
dh capacity D; k gS\

13. Two pipes can fill a tank in 15 minutes and 20 min-
utes. respectively. An outlet pipe is draining the wa-
ter at the rate of 28l/minute. All three pipes fill that
tank in 12 minutes. Find the capacity of tank.
, d i kbi  fdl h VSad dks 15 min esa Hkj l drk gSA nwl jk
20 min esa Hkj l drk gSA , d [ kkyh djus okyk i kbi  t ksM+
fn; k t ks i kuh dks 28 l/min ckgj dj jgk gSA vkSj bl dksa
rhuksa feydj 12 min esa Hkjrs gS] rks VSad dh capacity
D; k gS?

14. Two pipes A and B can fill a tank in 10 min and 20
min respectively. A outlet pipe is  draining the water
at the rate of 22l/min. All three pipes take 25 min to
fill that tank. Find the capacity of tank.
i kbi  A fdl h VSad dks 10 min vkSj i kbi  B, 20 min esa
Hkj l drk gSA , d [ kkyh djus okyk i kbi  t ksM+ fn; k t ks
22 l/min i kuh ckgj dj jgk gSA vkSj vc VSad 25 min esa
Hkj t krk gS rks VSad dh capacity D; k gS\

15. A pipe can empty a tank in 12 hours. If an inlet pipe
fill water at the rate of 5 l/min then the tank takes 18
hours to be emptied. Find the capacity of tank?
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gSA fdURkq i kbi  esa dpjk gksus dh ot g l s dsoy 
4
5

 i kuh

gh Hkst  i k jgk gS t cfd nwl jk i kbi  
3
4

 i kuh gh Hkst  i k jgk

gSA i rk pyus ds ckn dpjs dks gVk fn; k x; k vkSj fi Qj VSad
8 min esa Hkj x; k rks crkvksa dpjk fdruh nsj jgk\

22. A tank has 8 pipes. Out of which some one inlet and
some one outlets. Inlet pipe can fill a tank in 8 hours
and an outlet pipe can empty the tank in 6 hours. If
all pipes are opened together then the tank get filled
in 8 hours. Find the number of inlets and outlets pipe.
, d VSad l s 8 i kbi  t qM+s gq; s gSA ft l esa dqN Hkjus okys gS
rFkk dqN [ kkyh djus okysA Hkjus okyk i kbi  8 ?kaVs esa Hkj
l drk gSA rFkk [ kkyh djus okyk i kbi  6 ?kaVs esa [ kkyh dj
l drk gSA l kjs i kbi  , d l kFk [ kksy fn; s t k; s rks Vadh 8
?kaVs esa Hkj t krh gSA rks crkb; s fd fdrus Hkjus rFkk fdrus
[ kkyh djus okys i kbi  gS\

23. Out of 7 pipes. Some one inlets and some one out-
lets. An inlet pipe can fill a tank in 5 hours amd one
outlet pipe can empty tank in 4 hours.  It all the pipes
are opened together then the tank get filled in 20
hours. Find the number of inlet and outlets pipe.
, d VSad l s 7 i kbi  t qM+s gq; s gSA ft l esa dqN Hkjus okys gS
rFkk dqN [ kkyh djus okysA Hkjus okyk i kbi  5 hr. esa Hkj
l drk gS rFkk [ kkyh djus okyk i kbi  4 hr. esa [ kkyh dj
l drk gSA l kjs i kbi  , d l kFk [ kksy fn; s t k; s  rks Vadh 20
hr. esa Hkj t krh gS rks crkb; s fd fdrus Hkjus rFkk fdrus
[ kkyh djus okys i kbi  gS\

24. A pipe can fill a tank in 20 min and another pipe can
fill a tank in 30 min. Pipe A is opened for half of the
taime and pipe A and B are opened for the other half.
How long will it take to fill the tank?
, d i kbi  , d Vadh dks 20 min eas Hkj l drk gS rFkk nwl jk
i kbi  30 min esa Hkj l drk gSA i kbi  A dks vk/ s l e;  ds
fy; s [ kksyk rFkk ckdh vk/ s l e;  ds fy; s nksuksa i kbi
pyk; s x; s rks Vadh fdruh nsj esa Hkj t k; sxh\

25. Three pipes which has radius 1, 2, 3 can respectively
are connected to a tank water flowing in that pipes is
square of radius of that pipes respectively. If the thin-
nest piepe fills a tank in 42 minutes. How much time
will they take to fill that tanke together.
, d Vadh l s 3 i kbi  t qM+s gq; s gSA ft udh radius 1, 2, 3
cm gSA i kbi  esa cgus okyk i kuh f=kT; k ds oxZ ds
vuqØekuqi krh gSA ; fn l cl s i rys okyk i kbi  VSad dks 42
min esa Hkj nsrk gSA rhuksa i kbi  feydj fdruh nsj esa Hkjsaxs\

26. Three pipes which has radius 1/2, 1, 3/2 can respec-
tively are connected to a tank. Speed of water flow-
ing in that pipes 33 l/min. If all three pipes fill that
tank in 18 min three how long will theickest pipe
take to fill the tank alone.

rhu i kbi ksa dh f=kT; k, ¡ 
1
2

] 1] 
3
2

 gS A rhuksa i kbi ksa l s cgus

okys i kuh dh speed 33 l /min gSaA ; fn rhuksa i kbi  bl
Vadh dks 18 min esa Hkj nsrs gSA rks l cl s cM+s okyk i kbi
fdruh nsj esa Hkj nsxk\

27. Three pipes which has radius 1, 3/2. 2 can respec-
tively are connected to a tank. speed of water flow-

, d i kbi  fdl h VSad dks 12 ?kaVs esa [ kkyh dj i krk gSA
, d Hkjus okyk i kbi  geus t ksM+ fn; k t ks 5 l/min i kuh
Hkjrk gS vc VSad dks [ kkyh gksus esa 18 ?kaVs yxrs gS rks VSad
dh capacity D; k gS\

16. Two outlet pipes can empty a tank in 12 min and 15
min respectively. If an inlet pipe fills water at the
rate of 12 l/min then the tank takes 20 min to be
emptied. Find the capacity of tank.
i kbi  A fdl h VSad dks 12 min esa [ kkyh dj nsrk gSA i kbi
B, 15 min esa [ kkyh dj nsrk gSA , d Hkjus okyk i kbi  yxk
fn; k t ks 12 l/min i kuh Mky jgk gS vc VSad 20 min esa
[ kkyh gks t krk gSA rks VSad dh capacity D; k gS ?

17. A pipe can fill a tank in 10 min. The other pipe can
fill in 20 min. If and outlet pipe drains water at the
rate of 1710 l/min. Then the tank get empty in 25
min. Find the capacity of tank.
, d i kbi  fdl h VSad dks 10 min esa Hkj l drk gSA nwl jk 20
min esa Hkj l drk gS , d [ kkyh djus okyk i kbi  yxk fn; k
rks 1710 yhVj i kuh@feuV ckgj dj jgk gS vkSj VSad 25
feuV esa [ kkyh gks t krh gSA rks VSad dh capacity  D; k gS\

18. Two pipes can fill  a tank in 
112
2

 min and 
18
3

 min

respctively. An outlet pipe drains 162 l water in one
minute. All three pipes empty that tank in 4 minutes.
Find the capactiy of tank.

, d i kbi  fdl h VSad dks 
112
2

feuV esa Hkj l drk gS rFkk

nwl jk i kbi  
18
3

 feuV esa Hkj l drk gSA , d [ kkyh djus

okyk i kbi  t ksM+ fn; k t ks 1feuV esa 162 yhVj i kuh ckgj
djrk gSA vkSj vc VSad 4 feuV esa [ kkyh gks t krk gS rks
VSad dh capacity D; k gS?

19. A pipe can empty a tank in 15 min. and anotherr pipe
can empty the tank in 20 min. It an inlet pipe fill
waterr at the rate of 91 l/min. Then tank get full in 10
min. Find the capacity of tank.
, d i kbi  fdl h VSad dks 15 feuV esa [ kkyh dj l drk gS
rFkk nwl jk i kbi  20 feuV esa [ kkyh dj l drk gSA , d Hkjus
okyk i kbi  yxk fn; k t ks 91 l/min i kuh Hkj jgk gS vkSj VSad
10 min esa Hkj t krk gS rks tank dh capacity  D; k gS ?

20. A pipe can fill a tank in 14 hours and the other pipe
can fill the tank in 16 hours. Both one opened to-
gether. But due to a leakage in the tank it takes 32
minutes more to fill that tank In how much time will
that leakage be emptied that tank?
, d i kbi  fdl h VSad dks 14 ?kaVs eas Hkjrk gS rFkk nwl jk
i kbi  16 ?kaVs esa Hkjrk gSA nksuksa dks , d l kFk [ kksy fn; k
t krk gS i jUrq yhd ds dkj.k VSad dks Hkjus esa 32 feuV
T; knk yxrh gSA yhd i wjs VSad dks fdruh nsj esa [ kkyh dj
l drk gS\

21. Two pipes can fill a tank in 20 min and 25 min re-
spectively due tu some wastage in pipes, only 4/5
water can flow through first pipe and 3/4 water can
flow through second pipe. After clearing that pipes,
The tank was filled in 8 minutes. How long would
that wastage be in pipes?
nks i kbi  fdl h VSad dks 20 min vkSj 25 min esa Hkj l drs
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ing in that pipes is 3, 2, 1 l/min respectively If the
thiknest pipe can fill the tank in 46 min. Then how
much time will they take to fill the tank together.

rhu i kbi ksa dh f=kT; k, ¡ 1, 
3
2

, 2 gSA rhuksa i kbi ksa l s cgus

okys i kuh dh speed i jLi j  3, 2, 1 l/min gSA ; fn l cl s
NksVk okyk i kbi  VSad dks 46 min esa Hkj l drk gS rks rhuksa
i kbi  feydj fdruh nsj esa Hkjsaxs\

28. A boy and girl together fill a cistern with water.
The boy pours 4 litres of water every 3 minutes
and the girl pours 3 litres every 4 minutes. How
much time will it takes to fill 100 litres of water
in the cistern?
, d yM+dk rFkk yM+dh feydj fdl h gkSl  dks i kuh l s
Hkjrs gSA yM+dk i zR; sd 3 feuV  esa 4 yhVj i kuh mM+syrk
gS] t cfd yM+dh i zR; sd 4 feuV eas 3 yhVj i kuh mM+syrh
gSA gkSt  esa 100 yhVj i kuh Hkjus esa fdruk l e;  yxsxk\

29. 12 pumps working 6 hours a day can empty a
completely filled reservoir in 15 days. How
many such pumps working 9 hours a day will
empty the same reservoir in 12 days?
6 ?k.Vs i zfrfnu dk; Z djds 12 i Ei  , d i wjs Hkjs t yk' k;
dks 15 fnu esa [ kkyh dj l drs gSA , sl s fdrus i Ei  9 ?k.Vs
i zfrnu i zfrfnu dke djds ml h t yk' k;  dks 12 fnu esa
[ kkyh dj l dsaxs\

30. A tap takes 36 hours extra to fill a tank due to a
leakage equivalent to half of its inflow . The
inlet pipe alone can fill the tank in how many
hours?
, d uy fdl h VSad dks Hkjus esa bl ds , d fjl ko t ks uy
ds vUrZokg ds vk/ s ds l erqY;  gS] ds dkj.k 36 ?k.Vs dk
vfrfjDr l e;  ysrk gSA uy dk vUrokZg] VSd dks fdrus
?k.Vs esa Hkj l drk gSA

31. A cistern has two pipes. One can will it with
water  in 8 hours and the other can empty it in 5
hours. In how many hours will the cistern be
emptied if both the pipes are opened together,
when 3/4 of the cistern is already full of water?
, d Vadh esa nks i kbi  yxs gq,  gSA , d bl dks 8 ?kaVs esa i kuh
l s Hkj l drk gS vkSj nwl jk bl dks 5 ?kaVs esa [ kkyh dj
l drk gSA ; fn Vadh dk 3@4 Hkkx i kuh l s Hkjk gqvk gks]
vkSj nksuksa i kbi  , d l kFk [ kksy fn,  t k, a¡ rks] Vadh fdrus
l e;  esa [ kkyh gks t k, xh\

32. Three taps A, B and C can fill a tank in 12, 15
and 20 hours respectively. If A is open all the
time and B and C are open for one hour each
alternatively, the tank will  be full in
rhu uy A , B vkSj C Vadh dks Øe' k% 12] 15 vkSj 20
?kaVksa esa Hkj l drs gS] ; fn uy A i wjs l e;  [ kqyk jgs rFkk
B vkSj C ckjh l s , d&, d ?kaVs ds fy,  [ kksy fn,  t krs gS]
rks Vadh fdrus l e;  esa Hkj t k, xh\

33. Two taps A and B can fill a tank in 48 min. and 36
min. If both taps are opened together after how much
tap A is closed so that the whole tank will fill in 25
min. 30 sec.
nks uy A rFkk B vyx&vyx fdl h VSad dks Øe' k% 48
rFkk 36 feuV esa Hkj l drs gSaA ; fn A vkSj B nksuksa dks , d
l kFk [ kksy fn; k t k, ] rks Kkr dhft ,  fdrus l e;  ckn
uy A dks cUn fd; k t k,  rkfd VSad 25 feuV 30 l sds.M

esa Hkj fn; k t k, \

34. Two taps A and B can fill a tank in 12 min and 16
min respectively. Both tapes are opened together but
due to some problem they work 7/8 and 5/6 of their
efficiency, after some time the problem was removed
and now the tank will fill in 3 min. Then after how
much time the problem is removed.
, d gkSt  ds nks i kbi  vyx&vyx Øe' k% 12 rFkk 16 feuV
esa Hkj l drs gSaA nksuksa i kbi ksa dks , d l kFk [ kksyk t krk gS] dqN
deh gksus ds dkj.k i gys i kbi  esa i wjh {kerk dk 7@8 Hkkx
i kuh cgrk gS] rFkk nwl js i kbZ l s 5@6 Hkkx i kuh cgrk gS rFkk
deh nwjs gksus ds 3 feuV ckn gkSt  Hkj t krh gS] rks Kkr dhft ,
fdrus l e;  ckn deh dks Bhd fd; k x; k\

35. Two taps A and B can fill a tank in 15 min and 25
min respectively. Both tapes are opened together but
due to some problem they work 5/6 and 5/8 of their
efficiency, after some time the problem was removed
and now the tank will fill in 5 min. Then after how
much time the problem is removed.
, d gkSt  dks nks i kbi  vyx&vyx 15 rFkk 25 feuV esa Hkj
l drs gSaA nksuksa i kbi ksa dks , d l kFk [ kksyk t krk gS fdUrq dqN
deh gksus ds dkj.k i gys i kbi  l s i wjh {kerk dks 5@6 Hkkx
i kuh cgrk gS rFkk nwl jh i kbZ l s ml dh {kerk dk 5@8 i kuh
cgrk gSA deh nwj gksus 5 feuV ckn gkSt  Hkj t krh gSA Kkr
dhft ,  fdrus l e;  ckn deh dks nwj fd; k x; k\

36. Two taps A and B can fill a tank in 30 min and 36
min respectively. Both tapes are opened together but
due to some problem they work 5/6 and 9/10 of their
efficiency, after some time the problem was removed

and now the tank will fill in 
116
2

. Then after how

much time the problem is removed.
, d gkSt  dks nks vyx&vyx i kbi  Øe' k% 30 rFkk 36
feuV esa Hkj l drs gSaA nksuksa i kbi  dks , d l kFk [ kksy fn; k
t krk gSA fdUrq dqN deh gksus ds dkj.k i gys i kbZ l s
ml dh i wjh {kerk dk 5@6 Hkkx i kuh cgrk gS rFkk nwl js
i kbZi  l s dsoy 9@10 Hkkx i kuh cgrk gSA deh nwj gksus ds

116
2

 feuV ckn gkSt  Hkj t krh gSA Kkr dhft ,  fdrus

l e;  ckn deh dks nwj fd; k x; k\
37. Two pipes can separately fill a tank in 20 hours and

30 hours respectively. Both the pipes are opened to
fill the tank but when the tank is 1/3 full a leak devel-
ops in the tank through which 1/3 of the water sup-
plied by both the pipes leak out.What is the total time
taken to fill the tank?
uy A rFkk B fdl h VSad dks vyx&vyx Øe' k% 20 rFkk
30 ?kaVs esa Hkj l drs gSaA nksuksa uy dks , d l kFk [ kksy fn; k
t krk gS] t c VSad dks 1@3 Hkkx Hkj t krk gS rc VSad ds ry
esa , d fNnz gks t krk gS fd uy A rFkk B }kjk i zfr ?kaVs x,
i kuh dk 1@3 [ kkyh djrk gS] rks Kkr dhft ,  VSad dks Hkjus
esa fdruk l e;  yxsxk\

38. In a tank four taps of equal efficiency are fitted on
equal intervals. The first pipe is at the base of the
tank. And the 4th pipe is at 3/4 th of height of the
tank. Then calculate in how much time the whole tank
will empty. If the first pipe can empty the tank in 12
hours.
, d VSad esa , d l eku dk; Z{kerk okys 4 uy nwjh i j yxs
gq,  gSaA i gyk uy VSad ds ry esa] rFkk pkSFkk uy VSad dks
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3@4 Å¡pkbZ i j yxk gS] ; fn i gyk uy VSad dks 12 ?kaVs esa
[ kkyh dj l drk gS] rks Kkr dhft ,  Hkjk gqvk VSad fdrus
l e;  esa [ kkyh gks t k, xk\

39. Two taps A and B can fill a tank in 10 hours and 12
hours respectively. There is an outlet tap C. if all the
taps are opened together the tank will fill in 30 hours.
In how many hours tap C can alone empty the tank.
nks uy A rFkk B fdl h VSad dks vyx&vyx Øe' k% 10
rFkk 12 ?kaVs esa Hkj l drs gSaA VSad esa , d [ kkyh djus okyk
uy C gS] ; fn l Hkh uyksa dks , d l kFk [ kksy fn; k t krk gS]
rks VSad 30 ?kaVs esa Hkj t krk gS] Kkr dhft ,  vdsyk uy
C VSad dks fdrus l e;  esa [ kkyh djsxk\

40. Two taps A and B can fill a tank in 1 hours and 75
min respectively. There is an outlet tap C. if all the
taps are opened together the tank will fill in 50 min.
In how many hours tap C can alone empty the tank.
nks uy A rFkk B vyx&vyx fdl h gkSTk dks Øe' k% 1
?kaVk rFkk 75 feuV esa Hkj l drs gSa] rFkk uy C gkSt  dks
[ kkyh djrk gSA ; fn l Hkh uyksa dks , d l kFk [ kksyk t k,
rks gkSt  50 feuV esa Hkj t krh gSA Kkr dhft ,  fd uy C
dks Hkjh gqbZ gkSt  dks [ kkyh djus esa fdruk l e;  yxsxk\

41. nks i kbZi  , d l kFk feydj fdl h VSad dks Hkjrs gSaA i gyk
rFkk nwl jk i kbi  vyx&vyx VSad dks Øe' k% 5 rFkk 20
?k.Vs esa Hkj l drs gSaA fdUrq rhl jk i kbi  VSad dks [ kkyh djrk
gS] ft l ds ckjs esa vki jsVj dks Kkr u gksus ds dkj.k VSad dks
Hkjus esa , d ?kaVs dk vfèkd l e;  yxrk gS] rks Kkr dhft ,
rhl jk i kbi  VSad dks [ kkyh djus esa fdruk l e;  yxsxk\

42. nks i kbi  , d gkSt  dks vyx&vyx Øe' k% 14 rFkk 16
?kaVs esa Hkj l drs gSaA nksuks i kbi ksa dks , d l kFk [ kksyk t krk
gS rFkk gkSt  ds ry esa , d fNnz gksus ds dkj.k gkSt  dks
Hkjus esa 92 feuV dk vfèkd l e;  yxrk gSA Kkr dhft ,
t c gkSt  Hkjh gqbZ gks] rks fNnz gkSt  dks fdrus l e;  esa
[ kkyh djsxk\

43. , d rkykc esa rhu uy yxs gSa] t ks ml s Øe' k% 30 ?k.Vs
rFkk 20 ?k.Vs esa Hkj l drs gSa t cfd rhl jk uy ml  gkSt
l s i zfr feuV 45 yhVj i kuh ckgj fudkyrk gSA ; fn rhuksa
uyksa dks , d l kFk [ kksy fn; k t k, ] rks i wjk gkSt  15 ?k.Vs
esa Hkj t k, xkA Kkr dhft ,  fd ml  gkSt  esa fdruk i kuh
vkrk gS\

44. , d VSad esa 8 uy yxs gq,  gS ft l esa l s dqn uy VSad dks
Hkjrs gSa rFkk ' ks"k uy VSad dks [ kkyh djrs gSaA i zR; sd Hkjus
okyk uy VSad dks 12 ?k.Vs esa Hkj l drk gS rFkk i zR; sd
[ kkyh djus okyk uy VSad dks 36 ?kaVs esa [ kkyh dj l drk
gSA ; fn l Hkh VSad , d l kFk [ kksy fn; k t k; sa rks 3 ?k.Vs esa
VSad Hkj t krk gS] rks Hkjus okys uy dh l a[ ; k Kkr dhft , \

45. , d VSad esa 12 uy yxs gq,  gS ft l esa l s dqN uy VSad dks
Hkjrs gSa rFkk ' ks"k uy VSad dks [ kkyh djrs gSaA i zR; sd Hkjus
okyk uy VSad dks 6 ?k.Vs esa Hkj l drk gS rFkk i zR; sd [ kkyh
djus okyk uy VSad dks 12 ?kaVs esa [ kkyh dj l drk gSA ; fn
l Hkh VSad , d l kFk [ kksy fn; k t k; sa rks 4 ?k.Vs esa VSad Hkj
t krk gS] rks Hkjus okys uy dh l a[ ; k Kkr dhft , \

46. nks i kbi  A rFkk fdl h VSad dks vyx&vyx Øe' k% 10
rFkk 15 ?k.Vs esa Hkj l drs gSa t cfd i kbi  C VSad dks 20
?k.Vs esa [ kkyh dj l drk gSA vkjaHk esa i kbi  A rFkk B dks
, d l kFk [ kksy fn; k t krk gS i jarq t c VSad Hkjus okyk gksrk
gS rc i rk pyrk gS fd u C xyrh l s [ kqyk jg x; k rFkk
fi Qj ml s cUn dj fn; k t krk gSA Kkr dhft ,  ' ks"k VSad
fdrus l e;  esa Hkj t k, xk\

47. , d VSad dks B.Ms i kuh okyk rFkk xeZ i kuh okyk i kbi

vyx&vyx Øe' k% 10 rFkk 15 feuV esa Hkj l drk gSA
, d O; fDr nksuksa i kbi ksa dks , d l kFk [ kksydj ckFk: e l s
ckgj pyk t krk gS rFkk og oki l  ml  l e;  i j vkrk gS
t c VSad dks Hkj t kuk pkfg,  Fkk fdUrq oki l  vkus i j ml s
Kkr gksrk gS fd [ kkyh djus okyk i kbi  [ kqyk jg x; k] vc
og ml s cUn dj nsrk gS vkSj vxys 4 feuV esa VSad Hkj
t krk gS] Kkr dhft ,  [ kkyh djus okyk i kbi  fdru l e;
esa VSad dks [ kkyh djsxk\

48. , d gkSt  esa rhu i kbi  A, B rFkk C yxs gq,  gSaA A rFkk B
nks i kbi  vyx&vyx gkSt  dks Øe' k% 20 rFkk 30 feuV
esa Hkj l drs gSa rFkk C gkSt  dks [ kkyh djrk gSA nksuksa i kbi
dks , d l kFk [ kksyus ds ckn , d vkneh gkSt  dks NksM+dj
pyk t krk gS] rFkk oki l  ml  l e;  i j vkrk gS] t c gkST dks
Hkj t kuk pkfg,  Fkk fdUrq ml s Kkr gksrk gS fd i kbi  C
xyrh l s [ kqyk jg x; k Fkk rFkk vc og ml s cUn dj nsrk
gS vkSj gkSt  vxys 3 feuV esa Hkj t krk gSA Kkr dhft ,
vdsyk i kbi  C gkSt  dks fdrus l e;  esa [ kkyh djsxk\

49. fdl h cUnj dks 100 ehVj Å¡ps fpdus [ kaHks i j p<+uk gS
; fn og i gys feuV og 6 ehVj Åi j p<+rk gS rFkk nwl js
feuV 4 ehVj uhps f[ kl d t krk gS] rks Kkr djs og [ kaHkk
fdrus feuV esa p<+sxk\

50. , d cUnj dks 60 ehVj Å¡ps [ kaHks i j p<+uk gSA ; fn og
i gys feuV 5 ehVj p<+rk gS o nwl js feuV 4 ehVj uhps
f[ kl drk gS] rks Kkr djsa fd og 60 ehVj Å¡ps [ kaHks i j
fdrus l e;  esa p<+ i k, xk\

51. , d gkSt  esa A,  B rFkk C rhu i kbi  yxs gq,  gSaA A rFkk B
VSad dks vyx&vyx 20 rFkk 30 feuV esa Hkj l drs gSa
rFkk i kbi  C VSad dks 15 feuV esa [ kkyh dj l drk gSA
; fn A, B rFkk C dks , d ds ckn , d&, d feuV ds fy,
[ kkst k t k, ] rks gkSt  fdrus l e;  esa Hkjsxh\

52. uy A rFkk B fdl h VSad dks vyx&vyx Øe' k% 10 rFkk
20 ?kaVs Hkj l drs gSa t cfd uy C VSad dks 12 ?k.Vs esa
[ kkyh dj l drk gSA ; fn A, B rFkk C dks ckjh&ckjh l s
, d&, d ?k.Vs ds fy,  [ kksyk t k, ] rks VSad dks Hkjus esa
fdruk l e;  yxsxk\

53. , d gkSt  esa rhu i kbi  A, B rFkk C yxs gq,  gSaA A rFkk B
vyx&vyx gkSt  dks Øe' k% 20 rFkk 30 ?k.Vs esa Hkj
l drs gSa] rFkk i kbi  C gkSt  dks 60 ?k.Vs esa [ kkyh dj
l drk gSA i kbi  A rFkk C dks , d l kFk i gys ?kaVs ds fy,
[ kkst k t krk gS] rFkk B + C dks nwl js ?kaVs ds fy,  [ kksyk
t krkA nksckjk i kbi  A rFkk C dks , d l kFk rhl js ?kaVs ds
fy,  [ kksyk t krk gS vkSj bl  i zdkj ; g Ø;  vkxs rc rd
pyrk gS t c rd gkSt  Hkj u t k, ] Kkr dhft ,  fd VSad
fdrus l e;  esa Hkj t k, xk\

54. , d gkSt  esa 3 i kbi  yxs gq,  gSa ft uds O; kl  Øe' k% 1] 2

rFkk 4 l seh gS] cM+k i kbi  gkSTk dks 
11
20

 ?k.Vs esa Hkj

l drk gSA i zR; sd i kbi  l s cgus okys i kuh dh ek=kk ml ds
O; kl  ds oxZ ds l ekuqi krh gS] Kkr dhft ,  rhuksa i kbi
feydj gkSt  dks fdrus l e;  esa Hkjsaxs\

55. , d gkSt  dks Hkjus esa i kbi  A rFkk B }kjk l kFk feydj
gkSt  dks Hkjus esa yxs l e;  l s 3 feuV dk vfèkd l e;
yxrk gSA nwl js i kbi  B dks] i kbi  A rFkk B }kjk l kFk

feydj gkSt  dks Hkjus esa yxs l e;  esa 
121
3

 feuV dk

vfèkd l e;  yxrk gSA ; fn nksuksa i kbi  A rFkk B dks l kFk
[ kksy fn; k t k, ] rks gkSt  dks Hkjus esa fdruk l e;  yxsxk\
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